PROFESSIONAL EXAMINATION BOARD
§ Profsceicnl Group-4, Asstt. Grade -3 Stenographer,
reb@mmmqtion Stenotypist , Data Entry Operator Combined
board Recruitment Test - 2018
30t July 2018 09:00AM

Topic:- General Knowledge

1) Who is the Chief Justice of Madhya Pradesh? /

e U3 & H&T AT i 82

1. Justice Sharad Arvind Bobde / <TITHIRT ¥RT 3RfdT Sies

2. Justice Ajay Manikrao Khanwilkar / TR 3ror HIfdTeBRTa WHfdeh
3. Justice Hemant Gupta / TR g RIS

4, Justice Syed Rafat Alam / TR YT IBd HTH

Correct Answer :-

« Justice Hemant Gupta/:q'l'quQ ?Hd T

2) Opium and marijuana are mostly produced in which of the following districts of Madhya Pradesh? /

e yeR & fAAfefaa # @ frd o # Sriw SR TRy &1 ST 9ad 3iftre giar g2
1. Chhindwara/%_dﬁ'lt“ﬂ
2. Shivpuri / FRIAGH

3. Jhabua / =IT3T

4. Mandsaur / IIE@T

Correct Answer :-

« Mandsaur / IIE@T

3) Who is India’s first and oldest voter who exercised his franchise in the elections held in Himachal Pradesh on
9th November 20172 /

YRT & TUYH 3R TG SYRTA 39 TSI BT 11 1 8, Forgia 9 TdaR 2017 #) fRumaa uexr d v gAmEl
STt ThaTgelt T S¥auTa faear UT?

1. Upendra Narayan Pandey / 3 Ug AR UIUeg
2. Shyam Sharan Negi / RITH YR Gl
3. Ravi Prakash Jaiswal / Xfd WebT=I SIaTe]

4. Sunil Kumar Dubey / {Fﬂa PHR Q@I

Correct Answer :-

o Shyam Sharan Negi / TH TR Gl



4) Who has been awarded the ‘National Kalidas Samman’ in 2018 for the contribution to visual arts? /

fagera omé & ahrem 3 & g, ad 2018 § St Fifergr WA | {59 wwAa fovar man g2
1. Anjolie Ela Menon / 3fSTdil @ 84

2. Sudip Roy / gaiu 4

3. Satish Gujral / GeliRT ORI

4. Akbar Padamsee / 3{haR JI4t

Correct Answer :-

« Anjolie Ela Menon / SfSirett El o

5) Who has been appointed as CEO and MD of Infosys in 2018? /

2018 ¥ W & W3t R TS & Fu ¥ f5d Fgaa fpar man @2
1. Vishal Sikka / far=rTe Ryerept

2. Pravin Rao / U101 1

3. Ravi Venkatesan / Ifd ddc=H

4. Salil Parekh / FfeTel URE

Correct Answer :-

« Salil Parekh / IfoTd URW

6) Who is the Chief Electoral Officer of Madhya Pradesh? /
Ty & g fafe sifterd a1 32

1. S. Murali Krishna / 8. H”\T’ﬂm

2. Dr. Rajat Kumar / SRS PHR

3. Teeka Ram Meena / S1abT T8 HIHT

4. Saleena Singh / ot Rig

Correct Answer :-

« Saleena Singh / T ﬁl@’

7) Kalady in Kerala is the birth place of .
X | PremSt BT TR & |

1. Ramana Maharshi / YHUT tl%ﬁ

2. Adi Shankara / 3{TfG T

3. Paramhansa Yogananda / 13R'J:|€F m"‘Tf'_‘TE{

4. Swami Vivekananda / STH fadab g

Correct Answer :-

« Adi Shankara / 31Tf& e



8) The 7th edition of ‘Rashtriya Sanskriti Mahotsav’ was organized on January 2018 in which of the following
cities? /

SIaRt 2018 § STAra wraat *IgTa Wepfa weiwe Fafifaa d @ few wee o smaifsra fovar mar ar
1. Amaravati / SERTI!
2. Khajuraho / @W

3. Pune / E{&[
4. Bangalore / STER

Correct Answer :-

» Bangalore / SR

9) Which Indian won the ‘Sir Garfield Sobers Trophy’ for ICC Men’s cricketer of the year award for 2017? /
o Ut A af 2017 F R g3 frdre St & foW R TRWIes Wi erwh & Sfiar

1. Yuzvendra Chahal / gﬁé‘;{ ged

2. Virat Kohli / fRTe sigeft

3. Ravichandran Ashwin / Ifdeig 313

4. Cheteshwar Pujara / AR goIRT

Correct Answer :-

« Virat Kohli / faxTe ®rgeit

10) Which of the following weightlifters from India won gold medal at ‘World Weightlifting Championships on
November 2017°, the first Indian to do so in over 2 decades? /

Ade% 2017 ® AT Iy WRI ufaaifRar # ) g2re 91¢ ugel IR YRd @t fFafafaa § 9 fea
et 7 vl ugs Sian

1. Saikhom Mirabai Chanu / SRGH HRTETE A,
2. Renu Bala Chanu /iﬂ EISLEIGN

3. Kavita Devi / fddl ¢dl

4, Kunjarani Devi / W:ﬁ gt

Correct Answer :-

« Saikhom Mirabai Chanu / SG1H HRTETS 9,

11) Which among the following Tiger Reserves in Madhya Pradesh is considered as the real land of ‘Mowgli’ and
the area of the famous ‘Jungle Book’ by Rudyard Kipling? /

e # fRya Rl arg sryarval § S 91 Wl @ 3rRyelt Yy 3k Tsurs fpufei gr
e witis iTe g &1 &= |1 STaT 82

1. Bandhavgarh National Park / ST4dTTQ ?T@'q 3

2. Pench National Park / U<l 131 I
3. Satpura National Park / Jd4SI T@'q IRCIE]



4. Panna National Park / 9T Tl@’q RG]

Correct Answer :-

« Pench National Park / U9 ?‘I@’q 3

12) Rani Durgavati Vishwavidyalaya is located in which of the following cities of Madhya Pradesh? /

Y Yo & fafafed we’l # 9 $ai vt gutadt fayfaemay Ra 32
1. Jabalpur / STHAYR

2. Indore / GR

3. Bhopal / HOTd

4. Ujjain / IS0

Correct Answer :-

« Jabalpur / SId[eTYY

13) Who is the Chairperson of Madhya Pradesh Human Rights Commission? /
A YSR HH USRI & A& B 52

1. Justice Narendra Kumar Jain / :CITQH'\%:Q—;{ PHR S

2. Justice S.R. Bannurmath / :QTGE%WGH? aRHY

3. Justice Rajiv Gupta / =TI IToid e
4. Justice Prakash Tatia / WW SlIGR]]

Correct Answer :-

« Justice Narendra Kumar Jain / QJTQ'{%W PHR S

14) Where is the head office of Madhya Pradesh Financial Corporation located at? /
T yext faita fonma &1 ey wrafea et fRa 32

1. Jabalpur / SIe[eTYY

2. Gwalior / TaTfeIIR

3. Indore / 33 N
4. Bhopal / uard

Correct Answer :-

o Indore/ ?e_CaT

15) Smt. Anandiben Patel was the Chief Minister of which Indian State before taking over charge as the Governor
of Madhya Pradesh? /

A YT & Io9UTd & &9 § YUR 4 A gd Fiuedt sredia ued fra uRda wsa ot gemEt G
1. Rajasthan / TSTRITT

2. Maharashtra / HIRTS¢



3. Gujarat / T[SIRTd
4. Chhattisgarh / SCIETG

Correct Answer :-

o Gujarat / J[SIRTd

16) ‘Rashtriya Sharad Joshi Samman’ of Madhya Pradesh Government is awarded in the field of ./

AW UTHT GRT ITEN TRE S T B & &7 ¥ fear S 3|
1. Hindi satire / %?3[ [eates)

2. Hindustani music / %@E'Fﬂ BHIG

3. Social service / AT JaT

4. Classical dance / AT Jd

Correct Answer :-

« Hindi satire / Eél&l’l'q

17) Who is the author of the epic poem ‘Padmavat’ written in 1540 in Awadhi dialect? /
Jadh qieft F 1540 ® ford 7T¢ HRTHTH UgHTG F TR B 82

1. Malik Muhammad Jayasi / Afcid HeHq St

2. Abdul Rahim Khan-e-Khana / 3fegcl Q@q WH-U-GT-T

3. Kabir / B8R

4. Amir Khusro / 3R W

Correct Answer :-

» Malik Muhammad Jayasi / Afcre HeHa SOt

Topic:- General Hindi

1) «3ayur & forg el 3y fade 1 gl
1. AF+UTHT
2. &aﬁw
3. ST+
4, 3 +3yUl

Correct Answer :-

o SfT+TNT

2) “YeT Wi gerk &1 o P fieai A s ars?
1. 4G QUM

2. NG Qe

3. UG 7 Q@I



4. eI T @ia1

Correct Answer :-

BRVCRGICE |

3) YN & fore Wt wafaar ar =gl 3t dfea & gf)
1.4, 48, T

2. T, <8, TRId

3. 91, &8, T

4. T, 3(cg, Td

Correct Answer :-

. T, 38, I

4) AT & fog gt | fawse &1 g
1. G+3{NId

2. g+3ITd

3. J+3ITd

4, H+3{TTd

Correct Answer :-

5) St YT A1 g1 & ford oo g P A A e A g
1. gAY

2. 3

3. faemg

4. AT

Correct Answer :-
. 3E
6) ‘TG TGT PR Pl TR a1  RATEH Mg FE A A B AT 2
RCIGERIIES]
2. SfTfciRadmdt
3. Sffc=aifaa
4. ffa=mEd

Correct Answer :-



7) “HIYT 3D GoTak &1 A Fa fasaai g A s are?
1. G A T

2. TaD! g1 ST

3. %% A B

4. D B S

Correct Answer :-

. X[ IO

8) W PIYE FU A A A DT ATS?
1. @R

2. GUR

3. GURT

4. GIUR

Correct Answer :-

9) =}’ & g Tgt wataarh a1a 2egi Ft ufea &1 gfw)
1. Ry, ok, g

2. g, 3Ry, gz

3. g, 3, gz

4. RQT, iRk, gzt

Correct Answer :-

- Ry, aift, gz

10) HioR T A 79 STl - H 9 § & 914 91 EoR 82
1. GTo(ad SAPR

2. IIT 3fibR

3. TPIfT SADBR

4. SUHT 3[ABR

Correct Answer :-

« 3UAT 3APR

11) Y Y4 JH 09 Te?| - ¥ 9 & F o191 91 e 82
1. JTOIRT 3ibR

2. 9T S[ABR
3. Gehlfad 3ADBR



4. 3UHT 3[ADPR

Correct Answer :-

. SUHT PR

12) “HAE BT A8 AR g Fad I s are?
1. T BT 3T

2. 9 & AT 3

3. 9 & 38

4. GG 38

Correct Answer :-

. I P fore 3mig

13) <3 IUMT A 1 g FA A S P AT B2
1. 3q

2. 3TS

3. 3THH

4. TS

Correct Answer :-

14) ‘pfee &1 9 & A &9 91 9 fiaw 2 82
1. NP
2. TRA
3. IR

4, R

Correct Answer :-

15) HRAW &1 9 ° J B4 91 9 faaw 7ree 32
1. Wfddh

2. WIHTfdsH

3. WA

4. qdldd

Correct Answer :-

. WHId®



16) @ STt A T T I R A A FTATE?
1. 989
2. WH

3. forg
4. foR

Correct Answer :-

17) SrHeT g uTer™ gerd |

TR gORId ARd Sis Ais pg Ma | - AT A A w32
1. A% ™

2. 3GHT ™

3. I T

4. R

Correct Answer :-

GRS IRES |

Topic:- General English

1) Choose the correct form of tense for the given sentence:
We usually _ our dinner by 9pm every day.

1. was eating

2. eat

3. will eat

4, eats

Correct Answer :-

2) Spot the error in the given sentence:

The judges were impressed by her performance during the debate that they award her the first prize.
1. By her performance during the debate

2. The judges were impressed

3. The first prize

4. That they award her

Correct Answer :-

« That they award her



3) Select the suitable conjunction to complete the given sentence:

They were sad they were not granted permission to attend the concert.
1. so

2.if

3. and

4. because

Correct Answer :-

« because

4) Choose the correct form of modal auxiliary verb for the given sentence:
Jim has been travelling all day by bus andso __ be very tired.

1. must

2. shall

3. would

4. can

Correct Answer :-

5) Choose the most suitable determiner for the given sentence:
____the candidates qualified for the second round.

1. No

2. Few

3. None of

4. None

Correct Answer :-

« None of

6) Choose the appropriate articles to complete the given sentence.
Which is ___ tallest mountain in India? Is it __ Himalayas?

1. the, the

2. the, a

3.a,a

4. a, the

Correct Answer :-

« the, the



7) Choose the appropriate articles to complete the given sentence.

Hundred centimeters make __ meter and thousand meters make ___ kilometer.
l.a,a

2. the, the

3. the,a

4. a, the

Correct Answer :-

8) Choose the appropriate preposition to complete the given sentence.
Give us a reason __ quitting.

1. about

2. over

3. for

4. on

Correct Answer :-

o for

9) Choose the appropriate form of the verb to complete the given sentence.
I___ thatyou apply for the post.

1. suggesting

2. suggest

3. wanting

4. wanted

Correct Answer :-

e suggest

10) Choose the most suitable prefix for the given sentence:
The Panama Canal is a ___-made waterway.

1. man-

2. under-

3. re-

4. self-

Correct Answer :-



11) Choose the option with the appropriate punctuation inserted in the given sentence.
Since its raining lets stay indoors

1. since it’s raining, Let’s stay indoors.

2. Since it’s raining, let’s stay indoors.

3. Since it’s raining lets stay indoors

4. Since its raining, lets stay indoors.

Correct Answer :-

« Since it’s raining, let’s stay indoors.

12) Choose the correct form of verbs that is in agreement with the subject:
Iamalways ~ mykeysand _____ new ones made.

1. lost, got

2. losing, getting

3. lose, gets

4. loosing, got

Correct Answer :-
« losing, getting

13) Give the noun form of the underlined word in the given sentence:

His deny of not cheating in the examination was not accepted by the Principal.
1. denialment

2. denyness

3. denialness

4. denial

Correct Answer :-
o denial

14) Fill in the blank with the progressive tense (continuous tense) of the verb from the given options:
Virat very well in this inning.

1. batting

2. was batting

3. will be batting

4. is batting

Correct Answer :-

« is batting



15) Choose the appropriate preposition for the given sentence.
Thefan______ my head is making a lot of noise.

1.on

2. about

3.at

4. above

Correct Answer :-

- above

16) Choose the option with the appropriate punctuation inserted in the given sentence.
Pride and prejudice is probably the most famous of jane austen novels

1. pride and prejudice is probably; the Most famous of jane austens novels.

2. pride and prejudice is probably the most famous of jane austen novels!

3. Pride and prejudice: is probably the most famous of Jane Austen’s novels.

4. Pride and prejudice is probably the most famous of Jane Austen’s novels.

Correct Answer :-

« Pride and prejudice is probably the most famous of Jane Austen’s novels.

17) Choose the option that best transforms the given sentence using a question tag:
We have to pay for the broken chair,

1. haven’t we?

2.isn’tit?

3. don’t we?

4. didn’t we?

Correct Answer :-

« don’t we?

Topic:- General Maths

1) In a two-digit number, the digit in ten’s place is 2 times the digit in one’s place. The sum of this number and
two-digit number obtained by reversing the original number is 99. Find the number. /

31 3 aTelt U HEIT H, 8T I aATdT 3 SBT3 W T 3 BT AT 8 | 5 WS 3R Td W= &
3P BT YEHH B A YIS WA T AN 99 | BT 71l B |

1. 63
2.42
3.24

4,84

Correct Answer :-



2) The least number which when divide by 12, 15 or 18 gives the remainder 2 is: /
98 gAdH G=AT 1 12, 157 18 | UG $31 W) Avwd 2 St 8:

1. 182

2.162

3.360

4. 178

Correct Answer :-
o« 182

3) If the exterior angle of a regular octagon is x degrees, then what is the value of x? /
gfe T AT Se Yol T aiewhivl x fEf g1 at x ST am w32

1.45

2.40

3.35

4.30

Correct Answer :-

e 45

4) Let 680 =225 x 3 + 5, so that H.C.F of 680 and 225 is the same as the H.C.F of and , respectively. /

A AT 680 = 225 x 3 + 5, T 680 3N 225 BT HETH GHIUAA D, PHY: MR P HEWH
YUY S S A SR

1. 680, 3
2.680, 8
3.225,3
4.225,5

Correct Answer :-

. 225,5

5) Three interior designers can design a room in 6, 4 and 3 days respectively. If they decide to join together, then
how many days will they take to finish designing the room? /

T SRR SR TP FH B BH: 6, 4 3R 3 &) A fersa &% Ioa &1 afe I U A1 19 H1 BT
fofgaa g, a%m%ﬁ%ﬁsﬁnﬁmﬁﬁﬁﬁmmaﬁv

%daysfiﬁﬂ

Lia

1.



= days /
2

ka2 | w2

g days /
3.3

Lh| o

GG

d |

5
= days [/
4,

Correct Answer :-

4 4
—davs / - e
3 ) 3

6) One hundred and ninety-five degrees is equal to: /

T W U {3 39 REv §:

1. More than half of a revolution / b URGHU & MY T 3ifeh

2. Half of a revolution / U URGEHT BT HTET

3. Less than one fourth of a revolution / Tch uRepau & Th ?ﬁ?ﬂg JHH
4. One fourth of a revolution / T TRHH BT Th Eﬁ?‘ﬂé

Correct Answer :-

« More than half of a revolution / b URGHU & MY T 3HfH

7) Raman claims to have the maximum pocket money when compared to his siblings. All of them get money in 3
figures but Raman claims that he gets pocket money which can be divided equally among 70 people. What is
Raman’s pocket money? /

YU ST91 1T ¢ fob IUS T I UTS/a8+1 Bt ga-11 | fUwad o Td g1 39 9t 51 3 3 sipl |
ﬁ%&%m@mm%%aﬁmﬁaaﬁﬁm%ﬁmEﬁﬁ%aﬁawaﬁ’ammélm=r
Ca) faT :

1. Rs. 975 /975 %4U
2. Rs. 999 /999 ¥UU
3. Rs. 990 /990 ®4U

4. Rs. 980 /980 ¥UUQ

Correct Answer :-

« Rs.980/980 20U

8)

The length of a rectangle is 39.39 cm and its breadth is E cm. What is the area of the rectangle in cm?? /
U a4 e 3939 A 3k sady e Ez’m“r ¥ 3maa &7 e A2 F T
8?7

1. 124.65

2.120.45

3.136.35



4, 148.45

Correct Answer :-

» 136.35

4. 5

Correct Answer :-

10) 15, polynomial 2x2 + mx - 4 has %a.s one of its zeroes, then the value of mis: /

1

afg v EUE 2 tmx-4F YA A A oF - Bl A mF A &

1.-7
2.7

3.1
4.2

Correct Answer :-

11) The factor of a®-33b%is: /
a®-343b® & IUHAES §:

a?-+/3ab+3b?

, @3- (V3 by

a?+3ab-3b2

4 a’-3ab +b

Correct Answer :-
a®- (%3 by



12) . 3 9 57 9 11
Find the average of —,—,—,—,—,— [
21074 6 20 15

2 9 5 7 9 11 =
-, =, -, —,— & 3i|a 7a =
2104 & 20 15

1.1

2.1.5225

Correct Answer :-

13) Richard finished his test in % hours. Ronald finished the test m% hiours: Whowmdte longerand
A —C
Re§ & Z e & 3o e AT X fom| Aefes F @ # e e AT AW
foram fras &x foar 3R faer afe o foar

Ronald =ihou_rs [ TeTes, i e
1. 12 12

Richard :é hours / =3, i e
2.

ERonald :ihou_rsf' I 0§,é e
3.

Richard =ihcu.rs | =, 2 e
4. 12 12

Correct Answer :-
il 1 -
Ronald o hours [ TTes, = T

14 d : +3 4
) Find the solution of —— = =
=]

xX+3 __4

2x—5

1.11.33

2.5

w

35
4, 3

Correct Answer :-



15) Ifoneofthe zeroes of a cubic polynomial f{(x) =x*- 19x + 30is 2, then find the other two

zeroes. [

o T T dgUE flx) =%} - 19x+30 & Y A § TH 2 §, 06 307 & 4T A

Correct Answer :-
« 53

75327 . :
. will terminate after: /

16) The decimal expansion of number

75327
2500

T HT gfHE TAR 5T dIg THCd gHam:

1. Two decimal places / 3 g RIF

2. Four decimal places / IR GRHId &I
3. Three decimal places / T GREdd R
4. One decimal place / U QRIHAT RITH

Correct Answer :-

« Four decimal places / IR GRIHAT RITH

17) Z_Erepresents: !
2.45 5T didfafEca a=ar &

1. An irrational number / Uch SURAT T=T
2. A whole number/ Wwﬂ'@ﬂ

3. A rational number / Th ufHg G

4, An integer / Udh W

Correct Answer :-

« A rational number / U ufag g

Topic:- General Aptitude

1) In a box carrying one dozen of mangoes, one-third of them have become bad. If 3 mangoes are taken out from
the box at random, then what is the probability that at least one out of the three mangoes picked up is good? /

TP U Forad e o 3 €, S 9 Toh-fagtE e 81 T &1 9 9 # | 3 3l &) arefose U § R
freTar siTar 2, 9 T ke dr grft 6 e T i oAl & @ o3 4 1 U 3T 82

Lh | L
Ly | e



1
lﬂ|m

L | Lh
L | L

Ln
l)\.|L"‘J

4.

Correct Answer :-

Ln

Lh
L | s

2) In a code language ‘mok dan sil’ means ‘nice big house’ ¢ fik kon dan’ means ¢ house is good’ and ¢ warm tir
fik’ means ¢ cost is high’. Which word stands for ‘good’ in that language? /

U IS HTYT ‘“mok dan sil’ BT \?vf?-f% ‘nice big house’ ‘fik kon dan’ BT Gﬂf% ¢ house is good’ 3R ¢ warm tir fik’
BT 31 B <cost is high’ | T HIS HTHT H B T }eg ‘good’ HT U 87

1. Mok
2. Kon
3. Sil
4. Fik

Correct Answer :-

« Kon

3) How many such letters are there in the word “CATEGORY?” each of which is as far away from the beginning of
the word as when they are arranged in an alphabetical order? /

"CATEGORY" XTeg H UH foha 31&R &, Sl Xeg P JYHATA T I+ 61 g3l W & o b o1a 3% quiATen v H §
afRyd farar srar 82

1.2
2.1
3.3

4.4

Correct Answer :-

4) When the price of a product was decreased by 20%, the number sold increased by 40%. What was the effect on
the total revenue? /

q UH STE BT DI 20% T6 HH B &1 TS, 1 a4t 15 T H 40% B IS §3 | T M W T YUG
qsT?

1. 10% increase / 10% T{@

2. 13% increase / 13% Q@



3. 11% increase / II%T{@
4. 12% increase / 12%?{@

Correct Answer :-

» 12% increase / 12%?{@

5) The letters of the word ‘ARTICLE’ is arranged in different ways randomly. What is the chance that the vowels
occupy the even places? /

‘ARTICLE’ Y€ ¥ 31&R) &1 grefye U A fafts afiel & sqafyd forar sirar 81 = dHmaqr @ f @, 99
T TR 3T &2

s
1 35
2
2. 35
&,
3, 35
3,
4, 35

Correct Answer :-

1
35

6) A train travels from A to B at the rate of 50 km/hr and from B to A at the rate of 30 km/hr. What is the average
rate for the whole journey? /

TS ¢ A A B & a1 50 fHHi/tieT 3t ara A Fcdl @ 3N B T A 9% 31 I 30 frwfl/der o ara A Hedt 21
& e & e oftre e T 82

1.37.3 km/hr / 37.3 fosHt /et
2. 37.4 km/hr / 37.4 foHI/der
3.37.5 km/hr / 37.5 foHI/der

4.37.2 km/hr / 37.2 ToHI/der

Correct Answer :-

« 37.5 km/hr / 37.5 foeH /AT

7) If ‘COMPETE’ is coded as ‘DPNQFUF’, then how will you code “WARFARE’? /

Tfe «COMPETE’ ® ‘DPNQFUF’ | $f&d fu1 SITar 8, @) 3ITT ‘WARFARE’ & & HIf$d H30?
1. XZXGFHP

2. XBSGBSF

3. GVHLVGB

4. VHIGADQ



Correct Answer :-

« XBSGBSF

8) In how many different ways can the letters of the word ‘PRESENT’ be arranged? /
fram fafira 989! & Tsg ‘PRESENT’ & 31&RT &Y arafyd fawan < T 82

1. 2520

2.2510

3.2515

4. 2505

Correct Answer :-

e 2520

9) Radha reaches school from her house in 21 minutes. Gopal takes 35 minutes in covering the same distance. Find
the respective ratio between time taken by Radha and Gopal. /

T 21 fieTe ® 3vm R A W d UgHdt 3 1 UTe ST gt Y g R H 35 fieTe dar 81 14T SR ThuTe g1
o R wua & g w&fta Ut 91d SR

1.2:3
2.53
3.3:5

4.3:2

Correct Answer :-

10) Rajesh’s present age is two-fifth of the age of his father. After 8 years, he will be one-half of the age of his father.
How old is the father at present? /

TSR B TAAT 3MTY, 3T AT B 31 B S1-Uiwdl 81 8 T & 91, T8 31U AT P 3T BT SMeT ERM
A A 3P e i 3mg fpa-it 82

1. 48 years [ 48 Gl
2.32vyears/ 32 G
3.36vyears/ 36 g
4, 40 years / 40 G

Correct Answer :-

« 40years/ 40 g

11) The age of mother 5 years ago was thrice the age of her son. Five years hence, mother’s age will be twice that of
her son. The respective ratio of their present ages is ./

5 qY Ugd), 7l P 3TY WD 3¢ Y g F A 71 N1 vl au & a1e, A7 Y 3y 3w 3¢ | RFR Evf
TP TAHT 3Tg BT He i U gl



1.5:2
2.13:4
3.9:2

4.7:3

Correct Answer :-

12) Which letter should be 9th letter to the left of 9th letter from the right end. if the first half of the
English alphabet is reversed? /

afe 33l auTATET &1 gger HET 3ue BT T & aT Rl avw & 97 3eW T 9
3R 97 3&R &I @ g AR

1.E

2.1
3.D

4. F

Correct Answer :-
« E
13)

. . ) . .4
When 30 is subtracted from a number, it reduces toits 75%. What is = of that number? /

Sd 30 &1 T T § g1 A §, a1 96 30 F 75% d HH G A ¢l 30 A w%wg :
1.92
2.94
3. 96
4.90

Correct Answer :-

14) Ganesh purchased a mobile phone for Rs. 5600 and a refrigerator for Bs. 9400. He sold the

mobile phone at three-fourth of its cost price and the refrigerator at li of its cost price. What is

the profit or loss? /

IO o 5600 & F UH Al B AR 9400 & & Uh el @lien 399 AlEsd
BIel I IHH ARG Hed & dia-d0s Hed W a9 f&ar 3R M &1 389% ang
Hed & 12 W a9 feam emr o gife &= g2

1. Rs. 1744.33 loss / 1744.33 3. B

2. Rs. 1733.33 profit / 1733.33 %. <IH



3. Rs. 1733.44 loss / 1733.44 3. §IH
4. Rs. 1633.33 profit / 1633.33 2. ¢lH

Correct Answer :-

« Rs. 1733.33 profit / 1733.33 3. ¢lTH

15) In what proportion must water be mixed with spirit to gain 16%% by selling it at cost price?/
Reafe # e o & ol Famen Tiffe o aed Jed R 399 §T 16-% &

WATH FHHET =T T?

1. 1:6
2.2:6
3.4:6

4.3:6

Correct Answer :-

Topic:- General Computer

1) In MS Excel 2010, what operation does F1 performs? /
THUY THAd 2010 H, F1 T $T4 BT 82

1. Edit / Ufge

2. Paste / URC

3. Help / '

4. Redo / ﬂ:{

Correct Answer :-

. Help/%?q

2) In MS Excel 2010, which of the following tabs is used to insert rows and columns? /

mq%wa?rzmoﬁ,ﬁﬁﬁmﬁ%ﬁﬁvﬁ%aﬁmﬁ%mﬁgmﬁﬁﬁm%ﬁmmﬁm
ST 82

1. Insert tab / Eﬂ_c; %_Q’
2. Home tab / E»;TJ-—I%H

3. Design tab / ES < |
4. Layout tab / NEIRGG]

Correct Answer :-

« Home tab/ Eﬂtr?a



3) In MS Excel 2010, numerical data in the cells may contain: /

THET TR 2010 7, T A G=ATHS ST # e IufRue &) o g:
1. Subtract only / Had LI

2. Add only / HaA TS

3. Multiply only / ad Hec wTg

4. All of the above / STGdd Taft

Correct Answer :-

« All of the above / B'CPEIER‘[ gt

4) In MS Excel 2007, what does protect sheet do? /

THTH TR 2007 §, Widae T o1 o 82

1. Apply protection only to columns / I DITH IR TICaRMA F‘Iﬂlm gl
2. Apply protection only to a cell / FHad Jd TR Yica=H ?‘I'I"laﬂ_\ﬁ %I

3. Apply protection only to rows / PHId A R YR Fﬂ"]\m gl

4. Apply protection to the worksheet / ghRiTe IR WeaRH FIT‘:LEI?_{T‘ﬁ %I

Correct Answer :-

» Apply protection to the worksheet / M TR TR TR SRl %I

5) In MS Excel 2007, which of the following functions used for arithmetic operations is incorrect? /

ngqa@aéomﬁ,aimﬁ?ﬁumeﬁ(aﬁwm%mmﬂmwmﬁﬁmqﬁﬁ
1 ITed 82

1. AVERAGE
2. SUM

3. COUNT

4. TOTAL

Correct Answer :-

« TOTAL

6) In MS Excel 2007, time can be in the format of: /
THTH TR 2007 §, 999 9 B # g1 9@l §:
1. 12:00:00 only / dd 12:00:00

2. 12:00 only / Had 12:00

3. 12:00:00 PM only / %ad 12:00:00 PM

4. All of the above / wjaa ot

Correct Answer :-



« All of the above / E'créaa it

7) In MS Excel 2010, the shortcut key which is used to date format day, month, and year is:/

THUH T 2010 H, I WicdHe 3t o feHAi® Wwide # 34, 78 3k avf & g Suah &t 5t 7, e 8:
L. Ctrl+Shift+#

2. Ctrl+Shift+/

3. Ctrl+Shift+O

4. Ctrl+Shift+D

Correct Answer :-

o Ctrl+Shift+#

8) In MS Excel 2010, Quick Access Toolbar provides access to: /

THTH TR 2010 ¥, fP® T gaaR 399 9% &1 gD UoH Hdl &:
1. Frequently used commands / SRR JYGRT fou S aTel 3TGRT

2. Shapes / Gf@ﬁllﬁ

3. Pictures / 1

4. Symbols and Equations / gt 3R Tfiemront

Correct Answer :-

« Frequently used commands / 3R I fbT S dTel 317¢R

9) In MS Word 2010, the shortcut key used to cut character is: /

THTH T8 2010 H, YT I HT P & ¢ e Wicae oY 1 gxaATa far oI &:
1. Ctrl+P

2. Ctrl +X

3. Ctrl+V

4. Ctrl+Z

Correct Answer :-

o Ctrl +X

10) In MS Word 2007, when you press ‘Alt+N’ you can access the: /
THTY a8 2007 H, ST 3T 'Alt + N' S9Td § o 37 38 T PR 9P o
1. Insert tab / gﬂé%a

2. Home tab / BH |

3. Design tab / Sl ER! |
4. View tab / 3‘1%3

Correct Answer :-



o Insert tab / 3?’(.} )

11) In MS Word 2007, the maximum size of file can be .
THTN TS 2007 H, 3ifread IS 31 BI5d 51 9Pl g
1. 400MB

2.512MB

3.256MB

4. 440MB

Correct Answer :-

« 512MB

12) In MS Word 2007, ribbon is used to change the margins, page orientation, and page size or other
features that affect the layout of your page. /

THTH T8 2007 ¥, a9 o1 gwdaTa i, gy sifufa=uma (@ sifvge=r), 3k U8 SR (U
T3S T 30 B & gea & e far Srar 8 S 3y U & A3 H gHIfad #d &l

1. Page Layout / U 33
2. Page Reference / PEARURS|
3. Design / S ER|

4. Layout / 33T

Correct Answer :-

» Page Layout / U9 TeiT3e

13) In MS Word 2010, a small character can be created below any character this is called ./

THTH T8 2010 T, TH BICT g [l 370 PR & d 7491 off "evall § fordt SR g
1. Subscript / W

2. Bottomcharacter / STCHBYTCR

3. Bottomscript / m

4. Superscript / W

Correct Answer :-

« Subscript / BEIEgY

14) The Quick Access Toolbar on the top left corner in the MS-Word 2007 consists of which one of the following
options? /

THTH-TS 2007 # S0 a1 H11 R e tady gaar A fFaffaa 7 @ #i9 a1 faee fAfga 82
1. Word Count / 98 BIIC

2. Save /

3. Bookmark / w



4. Hyperlink / 8WRIcid

Correct Answer :-

« Save/dd

15) The brain of a computer is the .

PR PIARKS gl
1. Integrated circuit / s‘c"lﬂ%‘s’ e

2. CPU / iU

3.CD/¥iSl

4. Monitor / ATHIEX

Correct Answer :-

. CPU/ YUY

16) The F1, F2, F3, etc. keys on the topmost bar of a keyboard are called .
F1 918 F Mdad IR R F1, F2, F3, 31T Hforar Al gl

1. Fuel Keepers / WW

2. Fact Keys / e W

3. Function Keys / Tha=T- ?ﬁl’ﬁﬂ

4. Special Keys / faQy ?%I'CIT

Correct Answer :-

« Function Keys / Tha=IH ?%P:IT

17) Page orientation can be in: /

I siftgTeH Fu A gt aear 8:

1. Both Landscape and Portrait / dewhy 3R tﬁé‘c’ EEll
2. Landscape only / Had dSwHY

3. Portrait only / Had qﬁ:‘d

4. None of the above / B'CPEIER‘[ 7y aﬂ‘s‘ :I_GD[

Correct Answer :-

« Both Landscape and Portrait / dehY 3R th;gf_cr gl



